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6. Sedieh A 4 sguaiEl I el srRd il uek watd A I v F0e.

7. v 3 fafvarmars) Sarateer Gl TR ST Sl A7 wid STEed 4 o I
YUTaoT HTeAT ST Y.
AfchETT F0T T/@ .
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FedE YT TSRS helel] ™ T ITUe U foel ST R
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1. & nemmRde STRaTd 10T ?
A) st B) 3TcITEh
C) T D) @

2. Toremeft = yrearh geft wiean.

A) fomr + ameft B) ferem +1eff
C) feram + off ' D) fra+anfi
3. The practise of borrowing ideas and words from other and using them as ones own
A) Pantomine B) Burlesque
C) Plagiarism D) Imitation

4. 3TehTel QAR A ST 1, 3, 4,5 91 STRTIT =R 3okt TepoT fonet Eveat sHdiet

A) 12 B) 18
C) 24 D) 120
5. WRATdIA e U Afge faemdiis 13 e s I o1 ?
A) IS B) 9u
C) Tl D) =EhTE
6. Gigum ga=h gl Sa v feasfizned ?
A) 26 SHE 1930 B) 9 fedax 1946
C) 26 TegsK 1949 D) 9 fed=x 1948
7. T Sfaoren et Henivft wewe SR FEUATd.
INR:ICE B) qeciEs
C) BIIATY D) & USR
8. CGS USdIa St TUeheh IV ?
A) & B) i

C) frerehety D) ?mﬁ
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0. STSETE ATH THeIe 3168 STl

A) Il B) Ed
C) @d D) W
10. STeT BT 3T5e ST YR Hiedt ¢
A) IuEEfed B) YR
C) fag D) gWIEsH
11, ‘Yo’ o yreeran aueff vee s
A) TES B) I™
C) Gwn D) HgH
12. The plural of Half is
A) Hulf B) Halves
C) Halfs D) Halfes

13. Choose the correct spelling.
A) Schedule B) Schidule
C) Schedulle D) Schdule

14. Choose the correct ‘Negative sentence for the following sentence : ‘Brutus loved Caesar’.
A) Brutus never loved Caesar
B) Brutus was not without love for Caesar
C) Brutus was not love for Caesar

D) Brutus never love Caesar

15. Choose the most suitable alternative :

Nobody could have future correctly.
A) Forecasted B) Forcast
C) Forcasted D) Forcasting

16. T TaF=AH TR 1,000 6 Haw A0 e 140 SSTEE ¥ 12 TAmE W AT
aﬁaﬁ,mmmwﬂwmmmﬁmﬁwaﬁamwmwa?

A) ®. 175 B) % 225

Cy®. 125 D) %. 150
-4-
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17, TR 450FE Bkl STEaT 10% A 81T, T 10% HrRIaT SIS o o shaesi e ?
A) 540 %, B) 600 %.
C) 550 ®. D) 680 %.

18. 2 ot s nefiet Bieh 66 TR, ST i Ui 2 : 5 318, T HISHHEA 1o ?

A) 66 B) 44

C) 110 D). 88
19. 83— 73 1 G HTAT G TR AL ?

A) 11 : B) 9

C) 13 N D) 7

20. TeRT ¥t GEN SRIs ST & TV fiesdTa o Jeh=a ST Te 01 el B, ST Teh
AT 30 Y9 Fiedd 30 T fiesforet ot e fehelt s srisR it 7

A) 30 B) 15

Q) 25 D) 20
21. HehUrTEe STEIETS! %wmﬁmwﬁnﬁaﬁ.

A) Hifead - 24 B) i< - 60

C) Imafsa - 131 D) mfeH - 125
22. HEHd A=A IR T SR TS A9 ‘i wifcrere gema fvaferae T

LT AT IR,

A) ¥z (FaTETE) B) =t (I9)

C) THeH (AFTR) D) eenvar (FTfRTeh)
23. ‘IR ekl el werefiq o1 ?

A) HehelEd ST B) sRAPRI™

C) Safafaeran D) areht T
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24, FArer B ST ETeRoT fehdl SRR et gewia arate! ST ?

A) 1-1007HX B) 1-10TREhHIH

C) 100t Yeqr HiaT D) IR AR
25 T el Tt WS SR dTEdeh SIE v 7

A) G TE ZE B) = g

C) hieshal e T D) ST TeE a1 56
26. Wwﬁﬁaﬂﬁaﬁaﬁﬁwmm?

A)3:2 B) 2:3

Oy 2o - D) 3:4

27 ‘e AT vTeeTEEet e wTs el

A) 3: M B) oM
C) f: 3 : D) A
28. YR ST YT ST SHeEl : 3, T .
A) ST B) Iddred
C) & D) TH=
20, ST TR TR ST SO I A TR is SIS,
A) Tt adarehes B) i s[ciehies
C) YUt SRS D) Yui YcIehics
30. g@amﬁaaﬁf@ﬂmﬁﬁﬂwwaﬂw “Hrer 81 I SeTE Yl
A) T - B) wIErES |
C) {fcare D) uRurHETEEh
31, T yerfed Hes weaTe TEUTAT.
A) hed B) AR
C) FS D) 91
32, ‘Gg EUTET IR UE HEAT A 7
A) dfect B) g

C) aFdl D) fo
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33

34.

35.

36.

37.

38.

39.

40.

Choose the correct preposition to fill in the blank, “Viraj is good drawing’.
A) in B) at
C) of D) on

Person taking active part in protection of environment is called as
A) Conservationist B) Philanthropist
C) Supporter D) “Socialist

Place where particular type of animal, plants are found is called as
A) Barren land ‘ _ B) Habitat
C) Soil ' D) Air

Scientist who discovered forces of gravity
A) Edward Joseph B) Edison
C) Einstein D) Sir Isaac Newton

The science of using information discovered from studying number
A) Management B) Probability
C) Analytics D) Statistics

uﬁwmunﬁazﬂh@ﬁﬁﬂaqﬁﬁﬁwsﬁaﬁsﬁ,Wﬁmﬁﬁma@3ﬁa
ST T et YR § X STt ST, R el SR shioren feRiet e 7

A) © B) ufrem

C) =femr D) 3™
e vt TR S Ao §Ed HIvid! ¢

9.l 4 |

2712 |64

9 |4|16

A) 8 B | C) 16 By 18
8 TS o T 5 TearwTel Tl Tt 20 FSL o i fohe faerend shedtet 7
n2, Y, Remm B) 8, 4 feew

C) 2 o=@ | D) 3fEw

s
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41. Erefie Sfrepeta <wa fehedt 7

A) 25 B) 28
C) 30 D) 32
42, % AR 71 feam ‘et waer i wev Sifia e 3.
A) 14 STHaRY | B) 25 SHa
C) 25 A D) 15 A
43, TR Heild ST e =) =<t shivrd! 1R 7
A). et B) ardl
C) Fem D) |
44, TSIEATIT Tcieh HEEITel EFICIEIRCARECIR
A) 9= B) @@l
C) IR D) 9@

45. GIIRHTET AT d SHAT HITER aeied 38 7

A) @ B) Wi
C) Fiere D) HISH
46. 9T G, ARER, 9 T T 98 & Jeleish! shivre Tt &0 3R 7
A) Fof B) AN
C) @ D) &R
47. ST Fsen A IO U SRl frEm SRR drerEe
A) ST 9 SRl B) SAThIE d HERIS SEH

C) el d qTaT D) o a9t
_&-
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48. ST feoses e Tidat WTsT SOTRY U9 Shivrar 3R ?

A) arg B) JHwE!
C) Thare= D) 3R
49, TIGTHTRS Hiceh AT TR shetell HU@Teliet ufger femae shiom ?
A) TSR _ B) §d gHRH
C) T BhEg D) "™ Hifest
50. EF. SIS SIS T HIvTT Fel = eIt E-aTHa et it ?
A) TS B) IS

C) TEET | D) gEIfersgsor
51. 9. 9. @ISR qr=an v sHiesRiar ifeed stehiedt =1 [k e ?

A) SeEy B) 33
C) aH ga D) Tl
52. Choose the correct-synonym : ‘Contradict’.
A) Deny . B) Accept
C) Inform D) Current
53. Choose the correct one word substitution for the phrase : ‘person working for money and
reward’.
A) Selfish B) Professional
C) Businessman D) Hardwork

54. “All were silent as soon as he rose to speak’. Use ‘No sooner ... in place of ‘As soon as’.
A) No sooner than he rose to speak, all were silent
B) No sooner did he rise to speak than all were silent
C) No sooner does he rise to speak than all were silent

D) No sooner than he rose to speak than all were silent

55. Which of the following is an abstract noun ?
A) Sleep B) Mob
C) Dog D) Sugar
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56.

57.

58.

39,

60.

61,

62.
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ekl hTHTERIE HRU=T HET 55% A6 Shed ok Tl Hfiel et 93 g, o yreft weureh
v ferdt gt ?

A) 70 B) 50

C) 80 D) 60

TR Tk glE 800 ¥ 640 U1 firesast & TREH 700 Yt 525 o1 firesaret. R e o
TrehSaRId Weh fohelt ?

A) 3% B) 5%
Q) 8% D) 7%
7 IR T T TUE 146 7R, o ATrATih! gatd Hidl G shivrd] ?
A) 146 B) 140
C) 150 D) 152

TR AR TF, Hied, I 2= 9efierl 5 : 6 : 9 &I YA AR, ST 24,000 Fm=i
RIS ST Uehed ] Qe fohd] BEel Bised ¢
A)-%.6,000 B) . 7,200
C) & 10,800 D) % 1,080
S, 04%04%04
0.04x 04
A) 0.04 B) 4
C) 0.4 D) 40

T e R shRis ST s e St 3T ?
A) IEEH T9TE TSR R sHoaehia

B) fEeam e soamsiar

C) & Rt sRtoamehicar

D) ETav e Huamehid

TR JegT TSIl TTert ITE.
A) TR B) 3T
C) feay D) shifenr

10
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63. e JEIFEAT hIvTeIT AT e Shiedid ¢

A) TH B) A/
C) @i D) #&
64. Trferert & @it ynear TR et v ?
A) 3 B) TRATE
C) faggi . D) TR
65. HiSemEd SRId TReS R JT< HTTE3Th AU BId ¢
A) T, IR, O B) B EMEd
C) "I Ut D) u.H, fowid
66. TSI YR ATEAT 9T FRIIeshsieT U JLEahR IT ST HTe 7
A) UISATT B) TSSHI
C) &l D) i fayaE auwes
67. ETeeeh! ShIoTedT Hiesri=) @ TS a9 ATed 7
A) S B) st
C) T D) gdad
68. TSI HUN, AT Hiad! SATE =6k T Tel Fid FeurdTd ¢
A) 3| B) TSR
C) A D) &Y
69. ‘freata SHTgE B iRl T SR SehT SHIEl.
A) TR B) ARH
C) faummefs D) 3IFRATEH
70. Choose the correct meaning ‘L.ook into’
A) To examine thoroughly B) To watch
C) To observe D) To follow

71. Disease related to fatness is called as
A) Blood pressure B) Acidity

C) Obesity D) Lethargy
= i
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72.

73.

74.

.

76.

1.

78.
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Large mass of ice on mountain that moves very slowly down a valley is called as
A) Volcano B) Mountain slide
C) Gliders D) Glaciers

The fullform of RSPM used for measurement of air pollution is called as
A) Respirable Soluble Particulate Matter

B) Reserve Suspended Particulate Matter

C) Respirable Suspended Particulate Matter

D) Respirable Suspended Permitted Matter

Protected forests are the forest where
A) Trees and animals are secured
B) People go for hunting
C) Places to build houses
D) None of the above

[0 deores HEi fhad 6.50 5. TR, e T €1 0.95 %. A1 foehefl ot e fondt 2
RS ATl ¢

A) 0.2 % B) 46.2 %

C) 5.6 % D) 4.6 %

AETB =T 3718, C 81 B =1 3T (FTeT). D1 C =T HeeT 1% 1. EEl D= uedt 3.
A 3 E = 77T hivrd 7

A) T T2 B) 3T &Il
C) AT D) ot

e T 25 sl IR ITRA. U A Feimed 2 et i ). T e 3 Aaee
Treme fohd! 3Tt AR ?

A) 50 Hi. B) 424l
C) 48 . D) 52 Tt.
geteler femerean st 9 vl fae,

PQRS : WVUT :: MNOP : ?

A) QRTS B) QRST
C) TSQR D) TSRQ

L19.
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80.

81.
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83.

84.

85.
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AS B 1 S ITRURE FTe1vaTe TehT= bt eaTd hefl, A 814 foh. oY, Iatehe =imerd Tefm ek
IS STSIen dad S foh. ofY. =erer. B g1 ufvamishs 6 foh. 1. =mera e Fat IS SIS ged
qaT 4 o 11, =Ieret, T A 81 B IR Forclt ataRrer 3T ?

A) 9 Tt B) 10 fe.H.

C) 11 fop . D) 12 fe =,

T T & T ShIeh T2 A SR St ST 9 shivrT ?

A) ga-Sfamg 7 B) whier(r-Sflemy

C) TRhigE-fermmy D) TYerfem-fammy
3028 TT SHITVHTHR HERTEIA I Helt{ereh AIehe@d=T fSiesT kv ?
A) HoE T | B) HeE SHR

C) qor D) 3m

IMF ® YT Gided 9 37 ?

A) STRT(Ih ek B) SATAWISE I IR T9
C) rawrsra 7o [ D) STfieh s/ GEreAT
‘ﬁaﬁmﬁaaﬁaﬁmﬂﬁm’aﬁ%w@?

A) Tt B) a¥eftarm

C) FTETE D) «R

ST HGA SATHRAT ST,

A) HE TER B) US¥ UK

C) R qTfeTert D) 9= gt

TR YRR S, fau-SisgT A1 62l B, deaT et e

A) T B) fagam

C) TgFTaTR D) Iraehi AT

513:
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86. ‘e feaai aftrg SO’ AT ¥1e8 THETETS A1 Y158 VT ¢

87.

88.

89.

90.

91.

9.

93.

. TR D

A) TR B) wiféreh
C) 3= D) #ifees
At R ST S0 21 TR foharTe sites.

A) I B). ShHIET
C) gMH D) 3
‘T SO AT AT ST SRR VT 7

A) Ut ggot B) uroft qroft gl
C) wrof} orsror D) ot fReor
“yiy’” 1 YreSTE W TR o wHHTE 9rod e 7

A) 3 B) fg
Cyaf D) vl

Period after an unpleasant event or accident is called as

A) Menace
C) Aftermath

B) Wrath
D) None of the above

Personal records put on website giving an account of activities, opinions etc.

A) Email
C) Blogs

B) Messenger
D) Skype

Pair of basket or bag on each side of a bicycle is called as

A) Crouch

C) Pannier

Perennial means
A) Famous

C) Hostile

B) Ragor
D) None of the above

B) Everlasting

D) Lawful
_14-



0 A o \ C - 002-11
94. A horse

A) Neighs B) Roars

C) Barks D) Mews

95. Choose the correct antonym of : Anarchy
A) Discipline B) Monarchy
C) Democracy D) Home-rule

96. ThT Aefid 209G . ATIhT e WTel 3 ATehT TTE A1 ST, T < wed) 25 %,
efl =ig 37T, SR aTet S wuwd T 20°%, Sell <ig o Wie=aT <t wued! fhua 305, Wty
T A g g fohedt 7
A) 10 : B) 12
C) 8 D) 14

97. mm@ménmawﬁs%ﬁ.mwmaﬁmo%mmmmma“r:aoﬁﬁ%aﬁaﬁ.
| T g 3 fd 7

A) st 60 fer. 1. B) et 70 foh.h,
C) amft 80 o . D) awft90 fak. 4.
1.8 xy
98. SR X-—== | X -—= ?
ol S AT = e
27 27
é) ry B) >
o8 63
) 3 D) =

99. Tk SfeRT SATUCT ICA=TTEAT 4% T ST & 31 5 35 R Sem=ira L0 %o T Skl STHT
LA, T AFTSTa S %, 10,800 TRieeTeh TadTd o T wiftyes Seawt e} 7

A) % 12,000 B) & 12.500
C) & 20,000 D) % 13,000

100. 18,24, 22,23, 14,28, 14, 17, 18, 14, 25, 14 31 ST 9565 (Mode) 1 3712 7
A) 18 B) 14 C). 28.5 D) 23

-15-
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(B mien STRatRaR foremEn) (BT Seafisher forgmm)
Hadl : 3 T
T Re0
IR gt AT T
SUEHTAT FEHAT
1. a1 wegfedeha 100 S¥gFes JHRe T’ Hled.
2. uften g& ol o1 TH. TR, Joneli=ft STaten 3 SRAg Rt dreTeal fowd S,
3. uw diefaiT i gEaT 9 S SHEaH 9 G e
4. IERA A1 FEEahaie qae Idbkat feiea TeAT FesigEes AT 9 IR Sy fEiche

= P 31 .TA. TR, Yorel=AT Sad et STEvaeh Hifed 341, , TAYfEIR Sevid HHiE, ATHAE
SETerd fRET 4 et U8l ). grderr ST Aifed! Shearn afed fafeef e & qumey

5. W Grefavarge esqEs aEEd.

6. I S 4 Sguatd IR Rl sTRd el v wata a3 v we.

7. v e faftvamme serufaer defiia TR Em R ST dgwiih! A T e age e 3

8. el Widied! It WISTEre v fohen Uietl W ITawward T IR, ThaT faetel T Seerl al
gAfofETor ) <.

9. U S ITUEE! 2 U1 feet S, TeRRrenss U7 JuATa A ATE. THE AR adew gon
FeATH AT WIESKETE holel STHAE I Jae o foet S .

10. e W ol sgfhd el ot s et swatiehear e wm w1,

11. Segfereher dire Sard e e Sheieht sraear=h Tl e T Yo Hucare iad ae] GHa SRhS
Il T, THAEHH e G HEd T8 !,

12. IHearAT Rige e HUEdier His HEETet STvaE W Tl

P.T.O.
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| Tl ST TR ST S 37 A1 IR s AT,

A) Tl adurERes B) (et Iehie
C) 3T T D) Ul Jdehics
2. @amﬁﬁaﬁ@ﬂﬁmﬁﬁwmm, ‘et &1 9107 Siee Uesdl .
A) HIAEESh B). e
C) dfcrar=sh D) g
3. TR YRRl Hos weerdt TRUTT.
A) ad B) A&
C) i D) &

4. ‘G EUEE ShivIQ UE HeTS 3T 7

A) dfe B) W
C) = D) fo
5. RATE Gaitd H1S shet aTaqeh a8t shivid 7
A) GeS U g B) =% UR &
C) hicTehdT a1e & D) SRS 488 e 26
6. ST TEasTT=AT 39 ST el Are! JHToT /I 3178 7
A) 3:2 B) 233
C)2:4 D) 3:4
7. ‘s’ aryreaTeed foregefi v 2Tl
A) 3: 79 B) WEH
C) f: 3 D) R

8. It AUITa YRR ST Al : 3, 3
A) A B) Iddicisd
C) & D) q¥=
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9. FFUTETE SUARETRT > grreonfieh SuARfY 3.

A) ifean - 24 B) sEmee - 60
C) e - 131 D) IRfe - 125
10. Wqﬁwwamﬁm 39 i Fieiera Terd Rrafiemer’ T
AT T 3R,
A) Hau (ATER) | B) - s (391)
C) T (ATTR) D) Herehver (FTHRTR)
5 8 T TR TR Eeef 3T 7
A) TeheTEd Sl B) TR IR,
C) Safafea D) e AT
12 Wéwm%ﬁmmmmwﬁ?
A) 1-100HHTR B) 1-10TRERHIR
C) 100 FeT ST D) Ieh el

13, T A= T 1,000 & et ST eIt i40axrsrm%"fa% 12 TIE) T AT
w%@,mmmaﬁwmﬁwmmﬁwmmwﬁwmﬁmﬁ?

A) & 175 B) & 225
0) %. 125 D) % 150
14, THEE 450 5T feeh ST 10% T B, av:w%rmws‘mma‘hﬁaﬂ@@mﬁmaﬁ?
A) 540 % B) 600 %.
C) 550 &. D) 680 %.
15 aqt@d@ﬂnaﬁam%sn%,mﬁaﬁgﬂﬁﬁu:sa@.mwmﬁwﬁ?
A) 66 B) 44
C) 110 D) 88
16, 8373 T EEIAT U HEH T STl ¢
A) 11 B) 9
D) 7

C) 13
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17. WWW@HWW&?@MHWW@@%%.WW
INETRH 30 9 WS 30701 firesfirel ot et el et SR, el 7

A) 30 B) 15
C) 25 D) 20
18. The plural of Half is
A) Hulf B) Halves
C) Halfs D) Halfes

19. Choose the correct spelling.
A) Schedule B) Schidule
C) Schedulle D) Schdule

20. Choose the correct ‘Negative’ sentence for the following sentence : ‘Brutus loved Caesar’.
A) Brutus never loved Caesar
B) Brutus was not without lbve for Caesar
C) Brutus was not love for Caesar

D) Brutus never love Caesar

21. Choose the most suitable alternative :

Nobody could have future correctly..

A) Forecasted B) Forcast

C) Forcasted D) Forcasting
22, VEETE TH AT I8 HISEl.

A) B) §d

C) @d D) 3
23, ST BT 9158 SV Yokt Higal ?

A) SuErEfed B) W

C) &s D) e
24, ‘STaa T yreaTET wHH e ST,

A) TES B) a”™

C) T D) ugH
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25, TR after T Tfien femdis e T ST 4d SR 7

A) s B) gw
C) TRl D) =3ETs
26. Gium gu=h uftel S v feasi g ?
A) 26 STHaERT 1930 : B) 9 fedist 1946
C) 26 TeesK 1949 D) 9 fedsR 1948
27. Fre=a afdoen S SRl yeRen EE R
A) Hiedl B) TeEE
C) BIRIAY D) TEEH Y8R
28. CGS Ugdld Jor=l Uehh ShIvTd ¢
A) ~IH B) i
C) foreticherlt D) el
29. & HEETRId T SETE v ?
A) Afeat B) 3R
C) T&A D) &
30. forameff an vreer Teht drea.
INRGERE Vil : B) forem +35edi
C) fomm + of D) T +ameff
31. The practise of borrowing ideas and words from other and using them as ones own
A) Pantomine o B) Burlesque
C) Plagiarism D) Imitation

32. aimaﬁgmqﬁqml,&&smm&ﬁwaﬁﬁw%cﬁmm?ﬁa?
A) 12 B) 18
C) 24 D) 120
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33. The science of using information discovered from studying number
A) Management B) Probability
C) Analytics D) Statistics

34. Scientist who discovered forces of gravity

A) Edward Joseph B) Edison
C) Einstein : D) Sir Isaac Newton

35. Person taking active part in protection of environment is called as

A) Conservationist B) Philanthropist
C) Supporter D) Socialist
36. Choose the correct preposition to fill in the blank, ‘Viraj is good drawing’.
A) in & B) at
C) of D) on

37. Place where particular type of animal, plants are found is called as

A) Barren land ‘ B) Habitat -
C) Soil D) Air
38. ST, SISTETRS TESH AT VAT Fel e JEEhTTR FHTHE Fek et ?
A) IHAEH B) grdls
C) H=rLyT | D) IO
39. 9. 9. WISH FT=A1 IV HiasHien ATfeed AehreHt’ =1 Terr it 7
A) Hiag ' B) 3y
C) AAga D) ¥aTdt
40. eRuT feesh A shivTen qauiqa e B s ferees 7
A) SHAT I ARETT B) AETehics J HENIS I
C) FEd I W | D) el
41. TARHT féessh I et TSI SHUOTR Tof shIViT TR 7
A) Tiarg _ B) FHwE{

e
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42, TEETRS Bl I TR sholell U diet igen fase i 7
A) TSEIRY B) &d g
C) U= ehy=s D) " e

43, G ATehdid SRE fere ?

Ay 25 B) 28
C) 30 D) 32
44. g A ___wrfeam usdia waer 7 revm ifva et 3R,
A) 14 SHER B) 25 SHaRI
C). 25 *ThTe D) 15 3T
45. HERTSEIS Haid ST aisie= Te) v o1 ?
A) e B) drdt
C) FHWI D) oo

46. TerehT SRR 12 Hiet 3niehs Tt o ufvemiehs aaid 8 Hiet Teft, wav aférr fawien g 3 Hie
W IR & TS § HIST T Arerett, T <t BT v Foxie AATs 7

A) H B) ufem

C) =feor D) 3
47. Teciea watameh swfrgrean st Aomd S Sivwd] ?

3124

27 | 2 | 64

9 |4]16

A) 8 B) 12 €) 16 D) 18
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48. 8 TS U 1M 5 TeerTd sHidTa TR 20 A o9 1 fohelt R selier 7

A) 2, I/ femm B) 8, I feaw

C) 2 feag D) 3Teag
49. TSI T TSEITelT YT SRl Theza.

A) U B) Hal

C) 9K ; D) 9w

50. TITORRTIT <M & ST hTER SHeTeia ST 7
A) @ B) A
C) Hee D) AH

51. R gGew, aﬁqﬂ,ma_aﬁmwégﬁaﬁﬁmﬂvﬁﬁamm?
A) Foft B) FHUmNOT

C) g@wrm D) &=
52. Which of the following is an abstract noun ?

A) Sleep B) Mob

C) Dog D) Sugar

A) No sooner than he rose to speak, all were silent
B) No sooner did he rise to speak than all were silent
" C) No sooner does he rise to speak than all were silent

D) No sooner than he rose to speak than all were silent

53. *All were silent as soon as he rose to speak’. Use ‘No sooner ..." in place of ‘As soon as’.
~ 54. Choose the correct one word substitution for the phrase : ‘person working for money and
|
\

reward’.
A) Selfish B) Professional
C) Businessman D) Hardwork

55. Choose the correct synonym : ‘Contradict’.
A) Deny B) Accept

C) Inform D) Current
9.
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56, T TR AT T RS TS R ST STl STE ?

A) TSN B) TSI
C) el D) i e aoehies
57, Gl SV HEEE g T T AT ?
A) HfRad B) st
C) e D) A
5§ eTier U, ST STt SenTTE) TR TR el ST TEUT ¢
A) aha B) TN
C) 3T D) &9

59, “Foreia g T fehdl A1 ST SRR SAlesdT.

A) JETdR B) IETd®

C) fourgs D) 3IRATEh
60. e JET1 VT TR el shiedrd ¢

A) IH B) @

C) T D) He
61, Tirfersht & @it SEIN ST@euTRT fSest <hIvT ?

A) I B) TTTE

C) faggt D) TR
62, SHRrsme S| TR ) TRiesies S0 8 ¢

A) T, 3R, 84 B) %S gld

C) AT D) u . e
o o, 04x04%04

0.04x04
A) 0.04 B) 4

C) 0.4 D) 40
-10-
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64 mmﬁmwmmmm?
A) am‘r@ﬂ:rmmmnﬁ?iaﬂw&m
B) ey izt srroameniia
C) &RRnT e wooamesfar
D) e fefes smuemasfian
65. ITEUTFEE YeI1 TSATH Tererft 3R
A) T B) 3¢
C) feag D) =ifen
66. qamamaﬁaugmwa@aﬁ%mémﬁmwwﬁw%w. (GRSl
T fohelt Bt ?
A) 70 B) 50
C) 80 D) 60
67. rﬁsﬁ@uﬁeﬁagoo-ﬁaﬁr640@&&3@&%700%525@&@3@.ata‘raiwtgw'rnm
WhSTRId FF ohel 7
A) 3% B) 5%
C) 8% D) 7%
68. 7 AR T TEAT= T 146 m.mmﬁﬁwhﬁamﬁmm?
A) 146 B) 140
C) 150 D) 152

A) % 6,000
C) % 10,800

B) %. 7,200
D) % 1,080

70. Protected forests are the forest where
A) Trees and animals are secured

B) People go for hunting
C) Places to build houses

D) None of the above
=5l
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71. The fullform of RSPM used for measurement of air pollution is called as
A) Respirable Soluble Particulate Matter
B) Reserve Suspended Particulate Matter
C) Respirable Suspended Particulate Matter
D) Respirable Suspended Permitted Matter

72. Choose the correct meaning ‘Look into’
A) To examine thoroughly B) To watch
C) To observe D) To follow

73. Large mass of ice on mountain that moves very slowly down a valley is called as
A) Volcano B) Mountain slide
C) Gliders D) Glaciers

74. Disease related to fatness is called as

A) Blood pressure B) Acidity

C) Obesity D) Lethargy
75. ‘Cai GG GTAH STV AT ATRITdIS fhaTas Sfiesat.

A) B) MR

C) MM D) A
76. “GE O AT AT oI ST 1T ?

A) Toft g B) Uoft qrofl Bt

ORILIEISY D) uft ftkeor
77. ‘" = SreaT Wicereht o qHTTe e T ?

A) 3 B) g

c) ¥ D) Ui
78, ‘SR TP dayH frardis’ s 3 ?

A) T B) A&

C) foTEE D) SR

12-
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79. IR H G HHIAT STy,

A) FHEEHR B) TS9E&HR

C) TR urfererT D) g gt
80. ITRT YRR 37T, %W—é@ﬁﬁwaﬁ,ﬁwmw.

A) FarEE -~ B) fozEmy

C) YT D) amehramt
81. ‘ﬁwﬁwﬁuﬁaﬁwﬁ’mmwmwaﬁw?

A) gree 7 B) wuifer

C) 3Fe D) wiftes

82. AaBmmmﬁ@mwéﬁwﬂ.Am4%ﬁﬁmwﬁww
SSTEAT SIS e S foh. 1. =rrett. @B w1 Ui 6 i . ITTe Tl e 37T SIS Fat
97T 4 6. . =Terer, WA €1 B wrgE et siaoet o 7 .

A) 9 for.H. B) 10 fe&. =,
C) 11 fe. =, D) 12 f&.H.
83. wmaaﬁ%mmaﬁﬁmsﬁ?ﬁmmm?
A) &-sfiamy B) Hiar-sftam
C) erIHEe- R D) tiemfen-fiamy
84. ?ozzwmmmﬁmmﬁw?
A) HeT3 TR B) Hu33I9R
C) gor D) 3
85. IMF T YT Hitred €9 a1 ?
A) SITTfeR Stk B) SRS 4R

C) AT 7ot fef D) SiFTfieh samar geresy

-13:
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R6. 10 duTE SN fhud 6.50 %, 31, feherm g €€ 0.95 % 1 Frereft o e T T

HRIET STAT ¢
A) 0.2 % B) 46.2 %
C) 5.6% D) 4.6 %

87. AaBmwm.caBmw(mm).Dmcmmwaﬁ.EﬁDaﬁt&tﬁm.m
AT E = 9 v ?

A) TH SR B) 3Td &0
C) 3T D) Hwft
88, T T 25 AT TS ARG, Fedsh A HISHEA 2 Hier S TR, & uidedn 9 yEl
ey ford) 3T AR 7
A) 50 #. B) 424l
C) 48 H. D) 52 H.

89, gyaTelsh e st @ vt et
PQRS :WVUT : : MNOP: ?

A) QRTS B) QRST
C) TSQR D) TSRQ

90. Choose the correct antonym of : Anarchy

A) Discipline B) Monarchy

C) Democracy D) Home-rule
91. A horse

A) Neighs B) Roars

C) Barks D) Mews

92. Perennial means
A) Famous B) Everlasting
C) Hostile D) Lawful

93. Pair of basket or bag on each side of a bicycle is called as
A) Crouch B) Ragor

C) Pannier D) None of the above
=4
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94. Personal records put on website giving an account of activities, opinions etc.

95

96

97

98

99

.00.

A) Email
C) Blogs

B) Messenger
D) Skype

- Period after an unpleasant event or accident is called as
A) Menace
C) Aftermath

B) Wrath
D) None of the above

- 18,24,22,23, 14,28, 14, 17, 18, 14, 25, 1431 GEAT S5k (Mode) 71 3112 7
A) 18 B) 14 ™ $23.5 D) 23

. @mﬁmm4%wmwmmmaﬁﬁﬁmm % YT sfohel STHT

A, TG ATATSTS ST, 10,800 fRreersh TEdTd o @I Tfes 3=y fref 7
A) & 12,000 B) % 12,500
C) %. 20,000 D) % 13,000

) qmw@ménazawﬁsﬁ.rﬁ.mawmaﬁmo%mmm‘wvmma”r?,oﬁﬁ%waﬁ

T @ 3 fredy 7
A) dneft 60 o6 . B) qwit 70 for. o,
C) @it 80 . ft. D) dTsft 90 foh, =,

. qwéﬁazoﬁgmﬁamﬂrﬁmmawﬁmm Ted. T Sigeh T R 25 5,
H?ﬂﬁs\cm%.mmﬁ@mmﬁ%mzoamﬁ'{amﬁ@m%mwaﬁﬁg
W AT gt T fredt 7
A) 10 B) 12

C) 8 D) 14
g 1.2 Pl = ?
S — ,

527 27

A) _8—' B) —

63 63

C) 3 D) by

15
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10.
11.

12.

i Question Bookiet Version 'EEZW"IEB (Roll No.) Question Booklet Sr. No.
300182
33 .
Answer Sheet No.
(1 STk ST forer) (&1wies Ierufeha foremar)
Hadt : 9™
TR Roe
IHTANTE e AR TRt HE
IAETRAT FoAT
71 geTgfEreha 100 e TRRe TRA 371

TieT g S0ATYE] 371.TH. . Wmamﬂ%ﬁ%ﬂmﬁmw

9 T e gEaTd 9 i SHETRH TTUed G @M.

ISR A1 TRAgfEeheRie aie Saufisher feeieun Gu Fesslde aTeAT 9 SIHER SRR
e ey o un. o, yoefen Seafishat st wifed 3a. , SgfEieht seNia FHTE, FIFHE
SHAfE ToTeTa o ot Gel S, guaeRn STidd wifdt e =ty fofeet o 3 9o

. Tk TR 4 Sguatdl St foetelt smda el U waid av 3w Hived .
. A 3o vt s tiehet Tt THEHTREER FeedT adeiic! 9rd T S ae e 3T

TUTIOT SHTeadT STeTde T,
AT FHT 2T,
T T IauErdl 2 7 iR i, TeReneR T[ur Juata A ATEY. UhaT it et gon
HedTd AT GISTEIS helel! SHAE 1 Jerra 07 foct ST el
Fred T HOIETS THYfehd wmdt fieell S arote]. Ierufisher wea W &6 .
TG fedehar qH ST TE) el SeeaTs @ T Tar de TIeaat e del SR aERhe
Y AT, T e @l e Tel .
ISR Thar=h Jo5 TUEdEt T et S W A
P.T.O.
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1. AT T A Y8 HIeSEl.
A) I B) §d
C) Ed D) M

5 STl BT Yiee ST TeRIU gl ?

A) IugrtEfed | B) wcagufed

C) = D) g
3. ‘Yo’ 9T yreeTE gHETH veg i,

A) TS ' B) I

C) | ' D) HgH

4. T A= TR 1,000 3T Haw 0T i 140 STSTEER o 12 TSTE W AT
Wﬁ,wmmmﬂwwﬁmmmﬁwmmwmwﬁﬁﬁ?

A) % 175 B) % 225
C) %. 125 D) % 150
5. ThaE] 450 5T Frehe 37T 10% T2 AT, A 10% TRl avaredt ot e e frehwll 7
A) 540 %. B) 600 .
C) 550 &. D) 680 %.
6. @H?fﬁ@mnﬁﬁ%%m%,mﬁwi%@“ﬁﬂz:Sm%.mWﬁwW?
A) 66 B) 44
C) 110 D) 88
7. 8373 21 HEAT hIVT G A Sl ?
A) 11 B) 9
C) 13 D) 7
8. w1 Tt AN SR SeEEl A T T 3 Sk SRS T 1O i B, T

SirEaTr 30 S Greqd 30T fresfie) at wme! Tl S s Sredier ?

A) 30 B) 15 €) .25 D) 20
3.
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0. st Tatd HIS e e e hI ¢
A) Ters U g B) =8 UR TR
C) il dIe T D) SR T6E e ¢k

10. Wwﬁmﬁaﬁ?aﬁwmm?
A) 3:2 ' B) 2:3
C)2:4 D) 3:4

11, ‘ST’ T vrsaTeEe fregref wres SteaT.
A) 3: Y B) &M
C) F: 3 D) )M

12. T STt SRR ST e : 3, 37

A) S B) <adrcied

C) Fed - D) =
13, el HEmETIE STRET hIvd ¢

A) ARt B) ITIrEH

C) T D) A&

14, Teremsft = yrsareht wefi Hiea. |
A) fae + amefi B) foram +oteff
C) foram + off D) B +areft

15. The practise of borrowing ideas and words from other and using them as ones OWn
A) Pantomine B) Burlesque

C) Plagiarism _ D) Imitation

16. ST QTR A T 1, 3, 4, 5 T1 R =T 37ehY e fohct wie ST 7

A) 12 B) 18 C) 24 D) 120
4-
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17. The plural of Half is
A) Hulf B) Halves
C) Halfs D) Halfes

18. Choose the correct spelling.
A) Schedule B) Schidule
C) Schedulle D) Schdule

19. Choose the correct ‘Negative’ sentence for the following sentence : “Brutus loved Caesar’.
A) Brutus never loved Caesar
B) Brutus was not without love for Caesar
C) Brutus was not love for Caesar

D) Brutus never love Caesar

20. Choose the most suitable alternative :

Nobody could have future correctly. .
A) Forecasted B) Forcast
C) Forcasted D) Forcasting
21, wTaTde e st wfie frendis shid T T 3d A 7
A) R B) T
C) Tt D) =TS
272, GfRum ga= uRe daw v et e ?
A) 26 STHaR! 1930 B) 9 fedsr 1946
C) 26 sk 1949 D) 9 fegsr 1948
23. T aferoien e Behivlt JeRIe Y3R TEITAT.
A) "z B) sRcrae
C) BRI D) ITEA 98K
24. CGS YETa S Tehdh I ¢
A) SqA . B) 3wl

C) fercteherl D) et
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25

26

27

28.

29,

30.

31.

8
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“Syrrelt S! TR ST i ST 1 SR i sl

A) Tt IS B) i yawie

C) A ThIS D) ot e ‘
A) TITETEH | B) ek
[ORIULEIEED D) uRongaEeh
freTueTe Yo Ed Hes Wearl TRUIAT.

A) FE B) A

C) TS D)

‘Sz GHET I U8 Hew S ¢

INR S B) W

C) arel . D) fomt
FRUTTERA SUTRETE! R gEEYTH ST AR,

A) Gifeam - 24 B) #hislee - 60

C) IrmRfed - 131 D) 3TEfeT - 125
T TR SR & ST TS A9 ‘Ff wifem G favakraer’
FUGTd AT AT

A) a0 (FRTETR) B) s (97)

C) T (ATFTYL) g D) Herehga (iwER)
‘TS SrerRTer ST Heefid 3T ?

A) GeReIEd ISl B) BRI

C) Safafawar IERILEIEI]

A) 1-1005Am B) 1-10WWEhHIE
C) 10071t v HiaT D) ITehiATRI



0 A . C - 002-33

33. Scientist who discovered forces of gravity

34

35

36

37

38

39

40

A) Edward Joseph B) Edison
C) Einstein D) Sir Isaac Newton
. Place where particular type of animal, plants are found is called as
A) Barren land . B) Habitat
C) Soil D) Air
_ Choose the correct preposition to fill in the blank, “Viraj is good ____ drawing’.
A) in B) at
C) of D) on
. The science of using information discovered from studying number
A) Management B) Probability
C) Analytics D) Statistics .
. Person taking active part in protectibn of envir’onmcht is called as
A) Conservationist B) Philanthropist
C) Supporter D) Socialist
A) THEd I SARRETT B) IaTeRTcs o HERTSE IEH
C) st 9 HaT D) “etd g THTd
. AT fess A et SIS TR TS HIviT AR ¢
A) Tiar i B) S
C) "awe= | D) AREA
| STERITRS WIs% AT qaR shetelt qudidie ufee fsrae stomar ?
AT | B) €a qHRM

C) TS eRTTs D) dcaaH arfesft

2
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41. TitrerT SR 12 et SRS el 9 uftemisne g 8 Hiet eft, Fat afamr fesren gegg 3 #ie
e TR 6 Jeiehe 8 Hiet 3Fat =ieredl, e <ff s shivreat favien 31 ?

A)H B) ufvem
C) efequr D) 3W®
42, feciean watadeht et St AoTRY S Shivwd 7
31214 '
27 12|64
9 4|16
A) 8 B) 12 C) 16 D) 18
43, 8 TSK U W 5 feaama s o 20 TSR o= W ot feswma st 7
A) 2, Yy Reaw B) 8, 4 feaw
C) 2 feam | D) 3fd=®
44, <. STETEATRS SASH AT RV eled R FHI et e 7
A) ST B) FAY3
~ C) TR D) IfeRor
45. T. |, ISH AT RV FIGHIA Hifeed Sehred] =1 JTEehi fHeste ?
A) FiEay B) 1
C) A ga D) I&wt
46, TSIEIAIT Tedoh TSI Iyt FEienTe fHedr.
INRLE] B) @@l
C) ¥R D) @

47. GTOTERTET AT F &I HMEL ST 3T 7
A B) Wi
C) Hiare D) 3™

48. I Geo, TR, 8 o Tl shaet & Jelerdsht ehlUreT TS S&ol 3R 7
A) Fooft B) HUmul C) @i D) &R

8
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49, GTefier TTeRdid TRE fehdl ?

A) 25 B) 28
C) 30 D) &2
50. %Z AT 71 feam “usdia waer R revE Hfvd et TR,
A) 14 SHary : B) 25 SHaKR!
C) 25 AT D) 15 3&e
51. HRTTe Feld ST STie e el FIvrt 3T ¢
A) MeEEd B) ardt
C) ¢ D) i
52. Choose the correct one word substitution for the phrase : ‘person working for money and
reward’.
A) Selfish ' B) Professional
C) Businessman D) Hardwork

53." Which of the following is an abstract noun ?

A) Sleep B) Mob
C) Dog D) Sugar

. 54. Choose the correct synonym : ‘Contradict’.
A) Deny B) Accept
C) Inform D) Current

55. ‘All were silent as soon as he rose to speak’. Use ‘No sooner ..." in place of “As soon as’.
A) No sooner than he rose to speak, all were silent
B) No sooner did he rise to speak than all were silent
C) No sooner does he rise to speak than all were silent

D) No sooner than he rose to speak than all were silent
9.




C - 002-33 ¢ OO R R A

56, <o JETTEAT ShIvTeAT HTTTATH et ShIadwd ¢

A) IH B) ¥
C) @is D) H&
57. ffreT GRS TE SATeesuT el v ?
A) 3 _ B) TETE
C) faggt D). T
58 SHfeme SR TR AT AFTeRich HITE !
A) TH. IR & B) %E B
C) Tféata D) u. dt foet

59, T SHTEEE TRIUE HE 5505 T oAt TR TR T 93 T AU el A
e fohet Bl 7
A) 70 B) 50
C) 80 D) 60

60. TIYH T T 800 Yehl 640 11 iz 3 HREA 700 AT 525 T e, e T[T
b Beh fohdl

A) 3% B) 5%
C) 8% D) 7%
61. 7 FHAR GH G SUEd 146 R, T TR Tata W S vl ?
A) 146 B) 140
C) 150 D) 152

62. @nmn?ﬁaw,w,mmms . 6 - O &I JHUIE AR, ST 24,000 T
wwww%ﬂwéﬁa? :

A) %. 6,000 B) %. 7,200
C) . 10,800 D) % 1,080

63. TSI YER <A 0T TS T e SIS STl 377 7
A) TISAT B) USSHI

C) el . p) g T
-10-
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64. TIEATIEh! HIVTAT Hieats SRae T T 71 ?

A) Ffteag B) it

C) &y D) 3y
65. SERTIEIIT HoTT, ST el SerTIeY =Teh R ITeTT 7 TR0 7

A) 3fa " B) T™X

C) 3T D) &%
66. “Taewid 198 G fierdl =1 SR R siea,

A) Tl _ B) e

C) FEremreds D) 3IHETEH
T 0.4x0.4x0.4=?

0.04x04
A) 0.04 B) 4
C) 0.4 D) 40

68. USRI TS FRizrT hrlehw shemenat Terfiert sig o1 7
A) ARIEH 319E IR BRI woamrfar
B) fosi ot v fian
C) & Ffia o
D) T e Foarenitan

69. TR Y3 TSATE TSI AR,
A) T B) 3SR

C) feag D) ahifgm

70. Large mass of ice on mountain that moves very slowly down a valley is called as
A) Volcano B) Mountain slide

C) Gliders : D) Glaciers
241- '
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71. Protected forests are the forest where
A) Trees and animals are secured
B) People go for hunting
C) Places to build houses
D) None of the above

79. Disease related to fatness is called as
A) Blood pressure B) Acidity
C) Obesity D) Lethargy

73. Choose the correct meaning ‘Look into’
A) To examine thoroughly B) To watch
C) To observe D) To follow

74. The fulliform of RSPM used for measurement of air pollution is called as
A) Respirable Soluble Particulate Matter |
B) Reserve Suspended Particulate Matter
C) Respirable Suspended Particulate Matter
D) Respirable Suspended Permitted Matter

75. ‘ﬁm@aaﬁwmﬂ%mﬁa’@%a@?

A) T B) AT
C) SATEE D) R
76. HaEE L S SR Il
A) g GERR B) TS HHR
C) R wIferehT , D) T Gl
77. S T ST, - SreeT A8 HeT A, Jeet T G
A) e B) Tz
C) TEFIEE D) AR

12
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78. "quy feawTt it S1oT 31 ITsE HHRTEIS! A1 3158 ShIvET ?
A) gtfesh B) uifdres
C) = D) wHifes
79. 10 g Torek HiEE fhmd 6.50 %, 3R, Raarm vais "igt 0.95 &, 71 feeh 9t crmen fdt =%
BIRIST HTAT ? :
A) 02 % B) 46.2 %
C) 5.6 % D) 4.6 %
80. A ®TB STYH H1g. C BB =1 ITeieh (FTelT). DETC = 9EE WIS 3R, E 8 D= veft 1. ¢
ATES TR A0 7
A) T sy B) T srEtor
C) 3= D) HHi
81. Th TG 25 ST R AR, U o SeMe] 2 el 37t . o% qftedn g Sige=ar
FeMEY fohd) 3fat 3R ?
A) 50 =i, B) 42 .
C) 48 . D) 52t
82. wyTeler oA Swh 9w ugta fae,
PQRS : WVUT : : MNOP : ?
A) QRTS B) QRST
C) TSQR D) TSRQ
83. "Il SR WA VIR AT el it f3hes itz
A) = B) ST
C) 9MmH D) A
84. ‘orE O AT AT S[BUIRT ATRIIHR 0T ?
A) 9ot ggo B) uroft arofi groy
C) TTuft grsyoy D) urofi fRoy

85. "y A yreaTen Wictierieht o oraT awE wreg et 7

A) s B) fig C) b D) a7l
| g -
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I gEaTd et A w14 B30, SRS ST T Ta
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26, Ad B I AEH AU AU THT=
ST STSE a5 foh Hi. =eietl. WB e
g@4ﬁ.ﬁ.w,mAmbm3%eﬂma¢%?

A) 9 T B) 10 for.H.
C) 11 Fe. D) 12 frt.
g9, Wmaﬁfmamﬁmmuﬁﬁmsﬁéwmmm?
A) &F-SiET] B) ehieWI-S(IET]
C) TEHES- AL D) eieafes- ey
88. ?oaawmwwm@mﬁmm?
A) HorE TR " B) TaE SFH
C) g D) 3M
20, IMER & |k €9 38 7
Ay ST e B) SAaSE SATIR &
) srarsdra Al et D) STTfcieh ST ereT
90. A horse
A) Neighs B) Roars
C) Barks D) Mews

91. Period after an unpleasant event or accident is called as
B) Wrath

A) Menace
D) None of the above

C) Aftermath

92. Choose the correct antonym of : Anarchy

A) Discipline B) Monarchy
C) Democracy D) Home-rule

93. Personal records put on website giving an account of activities, opinions eftc.

B) Messenger
D) Skype

A) Email

C) Blogs
_14-
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94. Perennial means

A) Famous B) Everlasting
C) Hostile D) Lawful
95. Pair of basket or bag on each side of a bicycle is called as
A) Crouch _ B) Ragor
C) Pannier D) None of the above

96. mn@méwmmﬁs%m.awaawma?mo%.n‘tmmmma%oﬁﬁ%waﬁ.
fererm e 9 e 7

A) damEtt 60 fo.oft. B) @it 70 fo6. .
C) arsft 80 . 1. : D) it 90 fr .

97. Th1 efia 20 g a1, AT TR AT o ST T2 U1 ST e =gt Tl 25 %,
SRl =i TR SR ATt e At e 20, St =i & U= S woe f 30, Tl =g

98. 18,24,22,23, 14, 28, 14, 17, 18, 14, 25, 14 91 G SgSR (Mode) F7 31 7

A) 18 B) 14 C) 23.5 Dy 23
1 3 R
99. S X-—==— g x e 2

X2 X

2% 27

A) 'y B) =

o O )

) 8 & 4

100. T =Aferd SToeAT IeT=Tr=a1 4% ST STATTITAT T el o 38R IeT==7 10 % T Slohel ST
HA, TR TS 5B, 10,800 &mwmmﬁmmﬁ?ﬁ ?

A) ® 12,000 B) ® 12,500
C) % 20,000 D) % 13,000

-15-
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1. mﬁﬁéu@wﬁmmﬁéwm%m?

A) It B) o
C) et D) ddhre
2. wiaam g ufteh Yoo Hroear Raxft e ?
A) 26 STHERT 1930 F B) 9 fedst 1946
C) 26 Tlseal 1949 D) 9 fedsw 1948
3. i aférren swerea Berht e 3R U,
A) " B) Hco@s
C) BRI D) @& 98K
4. CGS Ugdia Fsid Teheh IV 7
A) Sg& 7 B) a7t
C) fehetiehertt D) herdt
5. The plural of Half is
A) Hulf B) Halves
C) Halfs D) Halfes
6. Choose the correct spelling.
A) Schedule | B) Schidule
" C) Schedulle D) Schdule

7. Choose the correct ‘Negative’ sentence for the following sentence : ‘Brutus loved Caesar’.
A) Brutus never loved Caesar
B) Brutus was not without love for Caesar
C) Brutus was not love for Caesar
D) Brutus never love Caesar -

8. Choose the most suitable alternative :
Nobody could have future correctly.

A) Forecasted B) Forcast

C) Forcasted D) Forcasting
iy
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0. R TRETIHE ST Shivrd ?
A) Tfeeept
C) T&A

10. Torameff = yreer=h Gef drea.
A) T + smefi
O o + off

TR

B) ATl
D) @™«

B) feram +areff
D) ferer +anef

11. The practise of borrowing ideas and words from other and using them as ones own

A) Pantomine

C) Plagiarism '

B) Burlesque

D) Imitation

12. ST GO A L, 3, 4, 5 F1 SRR =R 7R} oot Tehel EEAT ST

A) 12
C) 24

B) 18
D) 120

13, ST T TRt SIRITH S ST A1 AT shies ST,

A) Tt adameR B) Tl ciehis
C) YO ST D) Ui SR
14. I FEITdA TR SRR YR HAleET, ““Hrer B Il SetE e
A) TIETEH B) whIcHTEH
C) e D). uRommETE
15. Teramaerean yerrfed qe Yeaml TEUKT.
A) Ppad B) T
C) s D) HIq
16. ‘Sz G R 9E HEwT 76 ¢
A) dfeet B) g
C) o D) famt
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17. FhUTEE ST R YT I 3R,
A) Hifegd - 24 B) hiemee - 60
C) amfsA - 131 D) 3TRIfE - 125
18. TEHa =T IR o S TS 39 ‘Y FicreE gEHa favafameE’ s
FHOIT T TR, :
A) a0 (STER) B) SR (39)
C) T (ATTYR) D) Ferehyar (FTiRIER)
19. ‘TR NeRTe Hureh Heelid 3R ?
A) HeheUE TSR B) sReream
C) Safafaear D) Ireht TRl
20. wmwmmwmmmm?
A) 1-100THR B) 1-10Tm™shHE
C) 1007t & HI3T D) IR

21. THT TaETH T 1,000 ITH Befel A1 KT 140 TEEEE ¥ 12 T W FOITE
Wﬁ,wﬁmma@wmﬁmmﬁmﬁwmmwmmﬁeﬁ?

A) % 175 B) . 225
C) % 125 D) % 150

22. THIH 450 s et 7T 10% AR, T 10% BRI varETa! i o s e 7
A) 540 %, B) 600 %.
C) 550 %. D) 680 %.

23, 3 ot T Hefiel ®Eh 66 3R, ST i IR 2 : 5 TR, T WIS T HIvTl ?
A) 66 B) 44
C) 110 D) 88

24. 8373 1 G VT HEAA AT Sl ?
A) 11 B) 9

o13 D) 7
15
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25. mmuﬁﬁ%ﬁaﬁmm@éﬁwﬁmaﬁwm@mwﬁ?ﬁ. S TEH
ST 30 S Heem 30 T frefret o e Rl S S SFClteT ¢
A) 30 | B) 15
C) 25 D) 20
26. TESTEE TH T Y68 ST,

A) I B) §d
C) @d D) I

7. ST &1 3158 VTR TR HIedl ¢

A) Sugafed B) SegFHied
c) o= D) HHTeh
28, ‘IR AT YA ST I1ee HET.
A) TEE B) I@E
C) |1l D) UgH
29, TR Tt TS e STeqeh Fat U ?
A) Hag U T8 B) =78 U &
C) iR T D) SETEETE 8 Uie Z&
30. mwmumé%ﬁwﬁﬂiaﬁm%mmaﬂ%?
A) 3:2 B)i2:3
C)2:4 D) 3:4

31, ‘T A1 e el wes e
A) 3: 3 B) S&H
C) F:3m D) M

32. qEiet ST R ST W1 : 3, AT _
A) A B) <ddcied
C) ad : D) HE



! C - 002-44

O

33. Person taking active part in protection of en
A) Conservationist
C) Supporter

vironment is called as
B) Philanthropist
D) Socialist

tion discovered from studying number
B) Probability
D) Statistics

34. The science of using informa
A) Management
C) Analytics

35. Scientist who discovered forces of gravity
A) Edward Joseph
C) Einstein

B) Edison
D) Sir Isaac Newton

36. Place where particulélr type of animal, plants are found is called as

A) Barren land B) Habitat
C) Soil D) Air
37. Choose the correct preposition to fill in the blank, “Viraj is good
A) in B) at
C) af D) on
38, TaEN=aT S Heedl Futen i fesdl.
A) I B) &
) TR D) 9
30, GITURRFET AT o & SheTER SHaCe 3T ¢
A) @ B) WA
C) e D) WIS
et e AR

40. 9@ G, m,%aaa%?ﬁaaaa%gaﬁaﬂsﬁaﬁw
A) Fooft B) FAMNUI

C) F@uI D) &I

41.ﬁ.m®ﬁmmmaﬁag@mqﬂﬁaﬁﬁé?
A) TG B) W43

C) TR D) IR

e

drawing’.
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42. T, @, WIS AT T HIESKIe Teed STeRTaH! =1 Jreshit festett 7
A) shiead B) 31
C) aF Y D) =T

43, TRreRT ST 12 Hiex SRS Teft & wieeiens e 8 Hiet Tefl, Fed wfd fosten we 3 Hie
SR T e TS 8 T STt ietedl, Tt ST shivved fester 3t 7
A) B) ufEsm
C) sferr D) 3

44 oo vt S Tea AT ST JoT) TEaT hIvrd! ?

312 4
27 | ? | 64
9 (4|16

A) 8 B) 12 C) 16 D) 18

45, 8 TSR G %A 5 foade shidaTd @ 20@%%%%%@3?

A) 2, Yy Rem B) 8, }4 femm
C) 2 fe=m D) 3fam

46, ETeieT SATHdId S Tl ¢

A) 25 B) 28
C) 30 D) 32

47. E ITEAH 1 fag T wen fo FevE =it el AR
A) 14 SHIR B) 253@311‘1

C) 25 HATTE D) 15 3AFTE
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48, TRTTSETAC watd Stred e e et Shivrdt 31me ?

A) TeEd B) amdt
C) D) s
49, TrepTRT e T VT AT AT e S dereEe ?
A) STREd I ARE B) TS T HRIS SEH
C) &l 9 T D) I d ST
50. ST foorer F=IT TAER ST SHT0MT U shivrT 3 7
A) T | B) yHEad
C) Taie=a D) 3IWRA
51, TTeTERE BE% T GIR Herem s afeer fesde shivwd ¢
A) TSR B) HdgHRM

C) TSI ERTER D) G et

52 “All were silent as soon as he rose to speak’. Use ‘No sooner ..." in place of ‘As soon as’.
A) No sooner than he rose to speak, all were silent
B) No sooner did he rise to speak than all were silent
C) No sooner does he rise to speak than all were silent
D) No sooner than he rose to speak than all were silent

53. Choose the correct synonym : ‘Contradict’.
A) Deny B) Accept
C) Inform D) Current

54. Which of the following is an abstract noun ?

A) Sleep B) Mob
C) Dog D) Sugar
55. Choose the correct one word substitution for the phrase : ‘person working for money and
reward’.
A) Selfish B) Professional
C) Businessman D) Hardwork

20
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56. T : 04x04%x04 —9
0.04x04

A) 0.04 B) 4
C) 04 D) 40

57. U TTerTe FE=vn wefe e Tafaer s o ?
A) ARIEH 313Ta TSR e soameriat
B) femary s sogmsiar
C) ern e suamesiar

D) &Y e Ak itar
58. STXUITEA Y TS TSTaHI AR,
A) TRIH B) 3R
C) faag D) wifgm
59. HSTE YEIR AT SVIRT RATHIIST TSR YUk ST ST o7 7
A) TR B) YSomI
C) et D) i faydr qushres
60. TTeIeTUh! VT SHieat= TEe TSH TaT 3R 7
A) Ffhaq B) darsi
C) Fu D) Idad
© 61, STTIEET HU, ST Hiad) SRR e R e S RO 7
A) 3 B) TR
C) 3Ark ‘ D) W
62. “Tereia sh1ge T fehdl’ =1 SR YR ST
A) TRl B) ermaelsh
C) Torammefs D) 3¢TRETEh

63. TEHT IR U1 HEAT 55% ATG FeTHat THUT HU=N ST 93 Sreft. T TR o
g fohe) Bt ? |
A) 70 T 1 B) 50
C) 80 | D) 60
-10-
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64. TN T TET 800 Y 640 U1 firesaet 7 wRYM 700 ¥t 525 701 Fresaret. ax aere TorTeAT
SieheaRia Wk febelt ?
A) 3% B) 5%
C) 8% D) 7%
7 AR G ST G 146 SR, TR Ir=ATeh! gaid B ST Hivrd! ?
A) 146 B) 140
Cris0- D) 152

66.

67.

68.

69.

70.

71.

T STIRT I T, T, T g Heiert 5 ¢ 67 9 & SH10nd 31, ST 24,000 TR
HTIGT eI UehedT AT fohcll HraaT 8iget ?

A) %. 6,000 B) % 7,200
C) % 10,800 D) % 1,080
TE JETTEAT VAT TR At T ¢

A) IH B) ¥

C) @ D) He
farferen & @i e stessum fset s ?

A) 3 B) TS
C) fygt D) TR
FHisrered SR A ieR I Hriesie R B ?

A) T, AW, B9 B) %eTa
C) mfEA Tt D) ©. . foer

The fullform of RSPM used for measurement of air pollution is called as
A) Respirable Soluble Particulate Matter

B) Reserve Suspended Particulate Matter

C) Respirable Suspended Particulate Matter

D) Respirable Suspended Permitted Matter

Choose the correct meaning ‘Look into’
A) To examine thoroughly B) To watch

C) To observe D) To follow
“Fik
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74.

75.

76.

2 P

8

002-44 : A A

Protected forests are the forest where
A) Trees and animals are secured
B) People go for hunting
C) Places to build houses
D) None of the above

Disease related to fatness is called as
A) Blood pressure B) Acidity
C) Obesity D) Lethargy

Large mass of ice on mountain that moves very slowly down a valley is called as
A) Volcano B) Mountain slide
C) Gliders D) Glaciers

A S B 1 T IS <TvaTe TehTel St GaTe shetl, A 14 foh, #Y. Ioters =rmerd e Hew
IS TSI e 5 Toh, Hi. <ITetet. B =1 ufvsmens 6 o6, 5, =Terd T o Ssiedt sefet dexd
92T 4 ob i, <ITeTetT, T A 1 B IR fohelt STt 7R 7

A) 9 TR 1t B) 10 feh. .

C) 11 f& .. D) 12 f&.Hi.

TS TRT & T SR Seeh A< TG SIS! AR 941 h1or 7

A) gI-SfEm] B) ShRicI-SHITo]

C) TrmiEe- R D) RUeRIey- oy

R0 %8 T STUHTHR TERTSEId e e iereh o Iohaea= fSTeal shiurdT ?
A) HeTg TIRY B) T¥3 3K

C) gur D) 3

IMF T 3T it &9 378 7

A) SR Sh B) AT SR €9

C) I A Reft D) STk STIR AT

al2-
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79.

80

81.

82.

83.

84.

85.

86.

<

"I G WHH VI AT et f3emas siiear.,

A) L B) MG

C) §WH D) 3URA

T O A1 ST ST TR ST 7

A) 9oft ggur B) uroft qrofi groy

C) grofi greroy D) i fkgor

"3 A TeETE Wi IeteRl ST g wreg e} ?

A) 37 B) fiq

C) R D) afuig

L0 Evren WiETe Bhmd 6.50 5. TR, Riher™ e Tt 0.95 5. 71 et ov e fed 2

ERIET ST ?

A) 02 % B) 46.2 %

C) 5.6 % | ' D) 4.6 %

ATIB =T HATI AT, C §1B =1 ITeeh (HTell). DE1C 91 86@T TS 3712, E 8 D= 0eil 31, T

A It E 9 TR v ?

A) T S B) 3Td sy

C) 3Trean D) #Hwt

T T 25 AT S ARG, Fedeh F FTSME 2 Hiet 3itk TR, ot Uieesn 9 Yae=a
 greme foredt i o 7

A) 50 Hi. B) 424,

C) 48 . D) 52 .

SeATeeR g st 9y wal fae,

PQRS : WVUT :: MNOP: ?

A) QRTS B) QRST

C) TSQR D) TSRQ

S TR e aAgH Emds 8 TR ?

A) T B) 3tcfism

C) T ) D) R

-13.
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87. SHIHR W G SATHTET ST,

A) HEHER B) TS9 §&R
C) TR TfeteRT D) YR Gitedt
88. I T SHesel. Ferm-Sieg 13 ver 8K, Jeat T A,
A) FIaE | B) Tsamr
C) HgFEE D). Ikl e
89. "der fearmit wftrg IR 2 vree wETEEY A YreE o 7
A) Frifesn B) wiférh
C) shw D) =T
90. Personal records put ‘on website giving an account of activities, opinions etc.
A) Email B) Messenger
C) Blogs D) Skype

91. Perennial means
A) Famous B) Everlasting
C) Hostile D) Lawful

92. Pair of basket or bag on each side of a bicycle is called as
A) Crouch B) Ragor
C) Pannier D) None of the above

93. Period after an unpleasant event or accident is called as
A) Menace B) Wrath
C) Aftermath ' D) None of the above

94. Choose the correct antonym of : Anarchy
A) Discipline B) Monarchy

C) Democracy D) Home-rule
-14-
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95. A horse
A) Neighs B) Roars
C) Barks _ D) Mews
1.3 1
96. S X-—== X -— = ?
x X ;
A 4 l‘ B =
¥ ) 4
C) 6—3 D) fﬁ
8 4

97. 18,24, 22,23, 14,28, 14, 17, 18, 14,25, 14 91 &A= agie (Mode) F1 372 7
A) 18 B) 14 C) 23.5 D) 23

08. Teh ekl HATIT SCTTTAT 4 % TN FATATAITEAT T T o IR IS 10 % ST S5 57T
Ll eIl CATSATSIge S &, 10,800 Rreerss Teard @ =i wiftrs: 3ea=1 fpeft ?

A) % 12,000 B) ® 12,500
C) % 20,000 | D) % 13,000

99. THT TS T SR et 8 fob. =, aeeren ot dt 440 e, 1. =1 v svama 30 iR w2,

- forem s I R ?
A) aeht 60 f6. =, B) dwft70 foh .

C) areft 80 fo 4. D) drefi 90 f. 4.

100. ThT I 20 <45 AT, TR T Tl o STehl U= U1 ST, Ha <feeht gt fhwa 25 %,
eft < 3. S efiet Sgett wwt) b 20 %, St =g & wie=n Sgeh v i 30, wdisig
W AT g g ot ?
A) 10 B) 12
C) 8 Dy 14
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